REF.NO. CODE Q'TY| DESCRIPTION REMARKS
1 UF6612000 1 | SEPARATION ROLLER GEAR
2 UF6613001 1 | SEPARATION ROLLER
3 UF6625001 1 | ACTUATORF
4 UF6626001 1 [ ACTUATORR
5 LG3108001 1 [ CIS00
6 UF6628000 1 | CISHOLDERR
7 UF6629000 1 | CISHOLDER L
8 087310815 2 | TAPTITE, CUP B M3X8
9 UF6646001 1 | CIS LEAF SPRING
10 UG3510001 1 | CIS-MAIN HARNESS, FAX515
10 UG3645001 1 | CIS-MAIN HARNESS, FAX525DT
11 UF6645000 1 | CISHOLDER PLATE
12 UF6630001 2 | SPRING, COIL
13 UF6618001 1 | WHITE PRESSURE ROLLER
14 UF6620000 1 | WHITE PRESSURE ROLLER GEAR
15 UF6638001 1 [ BUSHING, R
16 087310815 2 | TAPTITE, CUP B M3X8
17 UF6677001 1 | RECORDING HEAD ASSY (SUPPLY ASSY)
18 UG354700% | 1 | MAIN-HEABDHARNESS FAXELS
18 UG3646001 1 | MAIN-HEAD HARNESS
19 UF6676001 1 | CUTTER ASSY (SUPPLY ASSY)
20 UF5535001 3 | SPRING, COMPRESSION
21 UF6706001 1 | PLATEN ASSY
22 UF6711000 1 | BUSHING, R
23 UF2489001 1 | CUTTER CHUTE
24 087320815 2 | TAPTITE, CUP S M3X8
25 UF6631001 1 | TH RELEASE LEVER ASSY
26 UF6650001 1 | DRIVING GEAR UNIT
26-1 UG3511001 1 | CUTTER SENSOR ASSY
26-2 UF6622001 1 | TAPTITE,PAN B M1.6X8
27 726317001 1 [ MOTOR
28 UF6665000 1 | MOTOR BRACKET
29 UG3512001 1 [ MOTOR-MAIN HARNESS
30 U24014001 4 | TAPTITE, CUP S M3.0X6
31 LE0234007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR GER/AUS
31 LE0247007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR GER/AUS
31 LE0236007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR UK/GNR
31 LE0249007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR UK/GNR/CZE
31 LE0237007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR FRA
31 LE0250007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR FRA
31 LE0238007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR NOR
31 LE0239007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR BEL
31 LE0251007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR BEL
31 LE0240007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR NLD
31 LE0252007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR NLD
31 LE0241007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR CHE/IRL
31 LE0253007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR CHE/IRL
31 LE0242007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR FIN
31 LE0254007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR FIN
31 LE0243007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR DEN
31 LE0381007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR DEN
31 LE0244007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR SPA
31 LE0255007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR SPA
31 LE0245007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR ITA
31 LE0256007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX525DT FOR ITA
31 LE0246007 1 | CONTROL PANEL ASSY, GRAY(1293), FAX515 FOR SWE

FAX515, FAX525DT / Ver. L



REF.NO. CODE Q'TY| DESCRIPTION REMARKS
31-1 LE0298003 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR GER/AUS
31-1 LE0299003 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR GER/AUS
31-1 LE0298004 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR UK/GNR
31-1 LE0299004 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR UK/GNR
31-1 LE0298005 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR FRA
31-1 LE0299005 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR FRA
31-1 LE0298007 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR NOR
31-1 LE0298008 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR BEL
31-1 LE0299008 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR BEL
31-1 LE0298009 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR NLD
31-1 LE0299009 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR NLD
31-1 LE0298010 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR CHE/IRL
31-1 LE0299010 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR CHE/IRL
31-1 LE0298012 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR FIN
31-1 LE0299012 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR FIN
31-1 LE0298013 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR DEN
31-1 LE0299013 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR DEN
31-1 LE0298015 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR SPA
31-1 LE0299015 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR SPA
31-1 LE0298016 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR ITA
31-1 LE0299016 1 | CONTROL PANEL, GRAY(1293), FAX525DT FOR ITA
31-1 LE0298026 1 | CONTROL PANEL, GRAY(1293), FAX515 FOR SWE
31-2 UF6810001 1 | PANEL REAR COVER
31-3 087310815 4 | TAPTITE, CUP B M3X8
31-4 uUG3842001 1 | PANEL PCB ASSY, FAX515
31-4 uUG3844001 1 | PANEL PCB ASSY, FAX525DT
31-5 087310815 1 | TAPTITE, CUP B M3X8, FAX525DT
31-6 UG3831001 1 | FPCKEY
31-7 LG2351001 1 | LCD
31-8 UG3847001 1 | MICROPHONE ASSY, FAX525DT
31-9 UG3616001 1 | PANEL-MAIN HARNESS
31-10 UF6681001 1 | ADF PLATE ASSY (SUPPLY ASSY)

32 UF0865001 1 | LCD PLATE, FAX515
FOR UK/FRA/NOR/BEL/NLD/CHE/IRL/FIN/DEN/SPA/ITA/ISWE/GNR
32 LEO005001 1 | LCD PLATE, FAX515 FOR GER/AUS
32 UF0963001 1 | LCD PLATE, FAX525DT FOR ITA
32 UF0957001 1 | LCD PLATE, FAX525DT FOR GER/AUS
32 UF0958001 1 | LCD PLATE, FAX525DT FOR UK/BEL/CHE/IRL/IGNR/CZE
32 UF0959001 1 | LCD PLATE, FAX525DT FOR FRA
32 UF0960001 1 | LCD PLATE, FAX525DT FOR NLD
32 UF0961001 1 | LCD PLATE, FAX525DT FOR FIN
32 LE0382001 1 | LCD PLATE, FAX525DT FOR DEN
32 UF0962001 1 | LCD PLATE, FAX525DT FOR SPA
33 UF0837001 1 | ADDRESS LABEL
34 UF0809007 1 | RECORDING PAPER COVER ASSY, GRAY(1293)
35 087310815 2 | TAPTITE, CUP B M3X8
36 UF6751007 1 | INNER COVER, GRAY(1293)
37 UF0801007 1 | ROM COVER, GRAY(1293)
38 UG3732001 1 | BATTERY ASSY, FAX525DT
39 UF0800007 1 | MAIN COVER, GRAY(1293), FAX515
39 UF0819007 1 | MAIN COVER, GRAY(1293), FAX525DT
40 UF5745000 1 | MJ COVER, EXT FOR GER/UK/FRA/BEL/NLD/FIN/DEN/AUS/ITA/SWE/GNR
41 UG3005000 1 | FERRITE CORE:16X8X10
42 UF6753000 1 | PANEL LOCK LINK
43 UF6763001 1 | ACS GROUND SPRING
44 UG3846001 1 | SPEAKER ASSY
45 UF6754007 1 | HOOK LEVER, GRAY(1293)
46 UF6932001 1 | SPRING, COMPRESSION
a7 UF6756001 1 | ACTUATOR PE
48 UF6755001 1 | SPRING, COMPRESSION
49 UF0802001 1 | ACS PLATE
50 UF6759001 1 | SPRING, COMPRESSION
51 LE0018001 1 | INSULATION SHEET

FAX515, FAX525DT / Ver. L




REF.NO. CODE |QTY| DESCRIPTION REMARKS
52 UF6760000 | 1 | BOTTOM PLATE
53 UF6762000 | 1 | GROUNDING PLATE
54 U41192001 | 2 | FELT FOOT
55 087310815 | 4 | TAPTITE, CUP B M3X8
56 LG3034001 | 1 | MAIN PCB SUB ASSY, FAX515
FOR GER/UK/FRA/NOR/BEL/NLD/CHE/IRL/FIN/DEN/AUS/SPA/ITA/SWE/GNR
56 UG3850031 | 1 | MAIN PCB SUB ASSY, FAX525DT
FOR GER/UK/FRA/BEL/NLD/CHE/IRL/FIN/DEN/AUS/SPA/ITA/GNR
56 UG3850032 | 1 | MAIN PCB SUB ASSY, FAX525DT FOR CZE
57 UG2980003 | 1 | OTPROM:FAX515 FOR GER/AUS
57 UG2986003 | 1 | OTPROM:FAX525DT FOR GER/AUS
57 UG2980004 | 1 | OTPROM:FAX515 FOR UK/GNR
57 UG2986004 | 1 | OTPROM:FAX525DT FOR UK/GNR
57 UG2980005 | 1 | OTPROM:FAX515 FOR FRA
57 UG2986005 | 1 | OTPROM:FAX525DT FOR FRA
57 UG2981007 | 1 | OTPROM:FAX515 FOR NOR/BEL/CHE/IRL
57 UG2987008 | 1 | OTPROM:FAX525DT FOR BEL/CHE/IRL
57 UG2981009 | 1 | OTPROM:FAX515 FOR NLD/FIN/DEN/ITA/SWE
57 UG2987009 | 1 | OTPROM:FAX525DT FOR NLD/FIN/DEN/ITA
57 UG2980015 | 1 | OTPROM:FAX515 FOR SPA
57 UG2986015 | 1 | OTPROM:FAX525DT FOR SPA
57 UG2986037 | 1 | OTPROM:FAX525DT FOR CZE
58 LG3285003 | 1 | NCUPCB ASSY FOR GER
58 LG2150004 | 1 | NCU PCB ASSY FOR UK
58 LG3285055 | 1 | NCUPCB ASSY FOR FRA
58 LG2150007 | 1 | NCU PCB ASSY FOR NOR/BELARE/FINJAUSATAIGNR
58 LG3285057 | 1 | NCU PCB ASSY FOR BEL/IRE/AUS/GNR
58 LG2150009 | 1 | NCU PCB ASSY FOR NLD
58 LG3285010 | 1 | NCU PCB ASSY FOR CHE
58 LG2150013 | 1 | NCU PCB ASSY FOR DEN
58 LG3285015 | 1 | NCU PCB ASSY FOR SPA/ITA
58 LG2150026 | 1 | NCU PCB ASSY FOR SWE
58 LG2679037 | 1 | NCU PCB ASSY FOR CZE
(58-1) | LG2180001 | 1 | SURGE ABSORBER:RA242MSS (LOCATION:AL)
(58-2) | UGB775000 | 1 | ARRESTER:RA311 (LOCATION:A2)
(58-3) | UGB798000 | 2 | PHOTO COUPLER:TLP621G (LOCATION:PH1,PH4)
(58-4) | 643949000 | 1 | PHOTO COUPLER:TLP627 (LOCATION:PH2)
(58-4) | UGB702000 | 1 | PHOTO COUPLER:PS2533 (LOCATION:PH2)
(58-5) | UGB797000 | 1 | PHOTO COUPLER:TLP620G (LOCATION:PH3)
(58-6) | LG2193001 | 1 | PHOTO COUPLER:PS2565 (LOCATION:PHS)
59 UG3841001 | 1 | POWER SUPPLY PCB ASSY (EXCLUDING AC CORD)
60 UF5923001 | 1 | AC CORD ASSY, FAX515/525DT
FOR GER/FRA/NOR/BEL/NLD/FIN/AUS/SPA/ITA/SWE/CZE/GNR
60 UF5922001 | 1 | AC CORD ASSY, FAX515/525DT FOR UK/IRL
60 UF5924001 | 1 | AC CORD ASSY, FAX515/525DT FOR CHE
60 LG2211001 | 1 | AC CORD ASSY, FAX515/525DT FOR DEN
61 UF4444001 | 1 | SCREW, PAN(P WASHER) M4X6
62 UG3517001 | 1 | POWER-MAIN HARNESS
63 LE5498004 | 1 | HANDSET, GRAY(1293)
64 UG3543001 | 1 | HANDSET CURLED CORD ASSY, GRAY/(1395)
65 UG3625001 | 1 | TELEPHONE LINE CORD FOR GER
65 UG3626001 | 1 | TELEPHONE LINE CORD FOR UK
65 UG3627001 | 1 | TELEPHONE LINE CORD5 FOR FRA
65 UG3629001 | 1 | TELEPHONE LINE CORD, FAX515 FOR NOR
65 UG1575001 | 1 | TELEPHONE LINE CORD FOR BEL
65 UG3631001 | 1 | TELEPHONE LINE CORD FOR NLD
65 UG3469000 | 1 | TELEPHONE LINE CORD FOR CHE
65 LG3077001 | 1 | TELEPHONE LINE CORD FOR IRL/SPA/CZE/GNR
65 UG3632001 | 1 | TELEPHONE LINE CORD FOR FIN
65 UG3633001 | 1 | TELEPHONE LINE CORD FOR DEN
65 UG4205001 | 1 | TELEPHONE LINE CORD FOR AUS
65 UG3634001 | 1 | TELEPHONE LINE CORD FOR ITA
65 UG3635001 | 1 | TELEPHONE LINE CORD FOR SWE

FAX515, FAX525DT / Ver. L



REF.NO. CODE |QTY| DESCRIPTION REMARKS

66 UF6820000 | 1 | DOCUMENT TRAY

67 | - NOT USED

68 UF6925001 | 2 | RECORDING PAPER GUIDE FOR 210MM WIDTH PAPER

(69) UF2497001 | 1 | STARTER THERMAL RECORDING PAPER, 10M

@) | - NOT USED

(71) UF8996001 | 1 | INSERTION R-PAPER LABEL

(72) UF8793001 | 1 | INSTALLATION R-PAPER LABEL

(73) UF6840001 | 2 | TH PROTECTION SHEET

(74) UF0915003 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR GER/AUS
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARD,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0916004 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR UK
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARDS,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0917005 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR FRA
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARDS,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0918007 | 1 | OWNER'S MANUAL ASSY, FAX515 FOR NOR
(INCLUDING OWNER'S MANUALS(REF.NO.(74-1)), WARRANTY CARDS,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0919008 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR BEL
(INCLUDING OWNER'S MANUALS(REF.NO.(74-1)), WARRANTY CARD,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0920009 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR NLD
(INCLUDING OWNER'S MANUALS(REF.NO.(74-1)), WARRANTY CARD,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0921010 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR CHE
(INCLUDING OWNER'S MANUALS(REF.NO.(74-1)), WARRANTY CARD,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0922011 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR IRL
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARD,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0923012 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR FIN
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), PANEL STICKER,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0924013 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR DEN
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARD,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0925015 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR SPA
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARDS,
RECORDING PAPER GUIDES(REF.NO.66))

(74) UF0926016 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR ITA

(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARD,
RECORDING PAPER GUIDES(REF.NO.66))

FAX515, FAX525DT / Ver. L




REF.NO. CODE |QTY| DESCRIPTION REMARKS
(74) UF0927026 | 1 | OWNER'S MANUAL ASSY, FAX515 FOR SWE
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)), WARRANTY CARDS,
RECORDING PAPER GUIDES(REF.NO.66))
(74) LE0376054 | 1 | OWNER'S MANUAL ASSY, FAX515/525DT FOR GNR/CZE
(INCLUDING OWNER'S MANUAL(REF.NO.(74-1)),
RECORDING PAPER GUIDES(REF.NO.66))
(74-1) | UF0928003 | 1 | OWNER'S MANUAL, FAX515/525DT FOR GER/AUS
(74-1) | UF0928004 | 1 | OWNER'S MANUAL, FAX515/525DT FOR UK/IRL/IGNR/CZE
(74-1) | UF0928005 | 1 | OWNER'S MANUAL, FAX515/525DT FOR FRA
(74-1) | UF0928007 | 1 | OWNER'S MANUAL, FAX515 FOR NOR
(74-1) | UF0928008 | 1 | OWNER'S MANUAL, FAX515/525DT FOR BEL(DUTCH)
(74-1) | UF0929008 | 1 | OWNER'S MANUAL, FAX515/525DT FOR BEL/CHE(FRENCH)
(74-1) | UF0928009 | 1 | OWNER'S MANUAL, FAX515/525DT FOR NLD
(74-1) | UF0928010 | 1 | OWNER'S MANUAL, FAX515/525DT FOR CHE(GERMAN)
(74-1) | UF0928012 | 1 | OWNER'S MANUAL, FAX515/525DT FOR FIN
(74-1) | UF0928013 | 1 | OWNER'S MANUAL, FAX515/525DT FOR DEN
(74-1) | UF0928015 | 1 | OWNER'S MANUAL, FAX515/525DT FOR SPA
(74-1) | UF0928016 | 1 | OWNER'S MANUAL, FAX515/525DT FOR ITA
(74-1) | UF0928026 | 1 | OWNER'S MANUAL, FAX515 FOR SWE
(75) UE3123001 | 1 | CARTON, BROTHER FAX515
FOR GER/UK/FRA/BEL/NLD/CHE/IRL/FIN/DEN/AUS/GNR
(75) LE0266001 | 1 | CARTON, BROTHER FAX515 FOR NOR/SPA/ITA/SWE
(75) UE3124001 | 1 | CARTON, BROTHER FAX525DT
(76-1) | UE1593001 | 1 | DPADL
(76-2) | UE1594001 | 1 | DPADR
7 UF6891001 | 1 | WIPING CLOTH ASSY
(78) UF8263001 | 1 | TEST CHART-027
(79) UF8997001 | 1 | ADJUSTING SHEET, A

FAX515, FAX525DT / Ver. L




